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QUESTION 1

Click the exhibit. 

Which of the following statements about the E-pipe service is TRUE? 

A. The service is a local service. 

B. The service requires a second spoke SDP on this router. 

C. The service\\'s VC ID is 44. 

D. The service will accept VLAN tag 100. 

Correct Answer: C 

 

QUESTION 2

Click on the exhibit. After the Isp-ping command is executed, which of the following best describe the router\\'s action? 

A. MPLS Echo Request packets are sent within the RSVP-TE tunnel that is signaled for "lsp-toR2". 

B. MPLS Echo Request packets are sent within the LDP tunnel that is signaled for Mlsp- toR2". 

C. MPLS Echo Request packets are IP-routed to the destination address of "lsp-toR2". 

D. MPLS Echo Request packets are sent to the destination address of "lsp-toR2" over TCP. 
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Correct Answer: A 

 

QUESTION 3

Fill in the blanks: A ________device has all interfaces inside the provider domain, and a _______ device has at least
one interface outside the provider domain. 

A. PE, P 

B. P, PE 

C. PE, CE 

D. CE, PE 

E. CE, P 

Correct Answer: B 

 

QUESTION 4

A BGP session is in OpenConfirm state. Which of the following messages must be received to transition to Established
state? 

A. Update 

B. Open 

C. Notification 

D. Keepalive 

Correct Answer: D 

 

QUESTION 5

Click the exhibit. 
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The output is from PE router R1 about VPRN service 100. From which protocol did router R1 learn the prefix
192.168.20.0/24? 

A. LDP 

B. BGP 

C. MP-BGP 

D. MPLS 

Correct Answer: C 
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